
x + 2 = 3 b = 6x + 34 × 4 = 16 x + 2 = 3 b = 6x + 34 × 4 = 16x + 2 = 3 b = 6x + 34 × 4 = 16
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Name _______________________________________

Graphing

Directions: Complete each function table.  Graph each ordered pair.

	 1.	 y = 2x + 1

x y

4

2

0

–2

–4

	 2.	 y = 4x – 2  

x y

3

1

0

–1

–3

	 3.	 y = 2x – 2 

x y

4

2

0

–2

–4

	 4.	 Look at the ordered pairs above.  Are any of them x-intercepts or y-intercepts?  How do  
you know?

	 	 _________________________________________________________________________

	 	 _________________________________________________________________________

	 	 _________________________________________________________________________




